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1 A.0D00O0O

ooooboyYydoooooboe9yoooooooooobooooooboooog

1.1 0O0bobooogoooon

import java.applet.x*;
import java.awt.x;

import java.awt.image.x*;

public class allMain extends Applet {
private static final long serialVersionUID = 1L;
Image img,img2;

Image new_img,new_img2;

int w_1 = 0;

int h_1 = 0;

int c_width = 0;//0000000000O

int c_height = 0;

int c_axisx=0;//000000 x0O00 yOOOO

int c_axisy=0;

int pix[];
int campus[];//00000000000000C0O0O0O

public void init(){

img = getImage( getCodeBase(),"test.jpg");
MediaTracker mt = new MediaTracker(this);

mt.addImage( img , 0 );

try{
mt.waitForID( 0 );

}catch( InterruptedException e) {
System.out.println( e );

w_1 = img.getWidth(this);

img.getHeight (this);

c_width = w_1%4;

c_height = h_1%4;

c_axisx = w_1%2;

c_axisy = h_1%2;

pix = new int[w_1xh_1];

campus = new int[ c_width* c_height ];

setPix();




void setPix(){
try{
PixelGrabber pg = new PixelGrabber( img, 0, 0, w_1, h_1, pix, 0, w_1 );
pg.grabPixels();
}catch( InterruptedException e ){
System.out.println( e );

int startX = c_width / 2+50;//00000000000 xO00O0O

int startY = c_height / 2;//00000000000 yOO0O
//000000000000000d

ImagePaste( campus, pix, c_width, w_1, h_1, startX, startY);
//0000

campus = composite( campus, c_width, c_height, Math.PI/4, true);

setAxis( campus, c_width,c_height);//000000000O0OOCOODO0O
MemoryImageSource mimg = new MemoryImageSource( c_width,c_height, campus,0,c_width);
System.out.println("end");

new_img = createImage( mimg );

}
//0000
public int round( double i ){
if (i >0 ){
return (int) (i += 0.5);
Yelse {
return (int) (i -= 0.5);
}
}

/000000 x00yOOOO
public void setAxis(int[] dst, int dstX, int dstY){

int axisX = dstX/2;
int axisY = dstY/2;

for( int i = 0 ; i < dstX; ++i ){
dst[axisY*dstX+i] = Oxff << 24;

for( int i = 0 ; i < dstY; ++i ){
dst[ i*dstX+axisX] = Oxff << 24;




//src0000 dst 00000

public void ImagePaste( int[] dst, int[] src,int dstX, int srcX, int srcY, int width, int heig]

for( int i = height ; i < height+srcY; ++i ){
for( int j = width; j < width+srcX; ++j ){
dst [i*dstX+j] = src[(i-height)*srcX+j-width];

//00000000000D0000000O0

public int[] rotation(int[] src ,int srcX, int srcY,double angle ){

int[] temp = new int[ srcX*srcY];
angle = -angle;//0000000000C0QC0OCDOO
for( int 1 = 0 ; i < srcY; ++i ){

for( int j = 0 ; j < srcX; ++ j ){

double newX

newX = round(newX);//0000
newY = round(newY);
//00000

int x = (int)newX+srcX/2;

int y = (int)newY+srcY/2;

//0000000000000000Ooooooo
if( x>0 && x < srcX & y > 0 && y < srcY ){

temp[ y*srcX+x] = srcli*srcX+jl;

}

return temp;

//00000000000DO00000D0O0O0

public int[] reflection_y( int[] src, int srcX, int srcY ){

System.out.println(srcX+","+srcY);
int axisX = srcX/2;

int[] reflection = new int[srcX*srcY];

for( int i = 0; i < srcY; ++i ){

for( int j = 0 ; j < srcX; ++j ){

int newX = -1%(j -axisX)+axisX-1;

Math.cos( angle )*(j-srcX/2)-Math.sin( angle )*(i-srcY/2);
double newY = Math.sin( angle )*(j-srcX/2)+Math.cos( angle )*(i-srcY/2);

ht) {




reflection[ i *srcX + newX ] = src[ixsrcX+j];

}

return reflection;

//00000000000D000

public int[] composite(int[] src, int srcX,int srcY,double angle, boolean pattern){

if (pattern){
src = rotation( src, srcX, srcY, angle);

src = reflection_y( src, srcX ,srcY );

Yelseq
src = reflection_y( src, srcX ,srcY );
src = rotation( src, srcX, srcY, angle);
}

System.out.println("end composite");

return src;

public int ByteRound( int i ){

if( i > 25656 ) i = 255;
else if(i < 0 ) i = 0;

return i;

public void paint( Graphics g ){
g.drawImage( new_img, 0,0,this);
System.out.println("print Image");
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2 B.OUOOOOOOOOODOO

Pie200000000000DO00O0ODO0OOOOOODOOOOODOODOODOODOOO

2.1 OdO0dOooboooooboon

import java.applet.x*;
import java.awt.x;

import java.awt.image.x*;

public class allMain extends Applet {
private static final long serialVersionUID = 1L;
Image img,img2;

Image new_img,new_img2;

int w_1 = 0;

int h_1 = 0;

int c_width = 0;//0000000000

int c_height = O;

int c_axisx=0;//000000 x00 yOOOO

int c_axisy=0;

int pix[];
int campus(]l;//0000000000000000O0

public void init(){

img = getImage( getCodeBase(),"test.jpg");
MediaTracker mt = new MediaTracker(this);

mt.addImage( img , O );

try{
mt.waitForID( 0 );

}catch( InterruptedException e) {
System.out.println( e );

w_1 = img.getWidth(this);

img.getHeight (this);

c_width = w_1%4;
c_height = h_1x%4;

c_axisx = w_1%2;

c_axisy = h_1x%2;
pix = new int[w_1xh_1];
campus = new int[ c_width* c_height ];

setPix();




void setPix(){
try{
PixelGrabber pg = new PixelGrabber( img, 0, 0, w_1, h_1, pix, 0, w_1 );
pg.grabPixels();
}catch( InterruptedException e ){
System.out.println( e );

int startX = c_width / 2+50;//00000000000 xO000O
int startY = c_height / 2;//00000000000 yOOO
//000000000000000d

ImagePaste( campus, pix, c_width, w_1, h_1, startX, startY);

campus = affine( campus,c_width,c_height,20,20,Math.PI/4,2);//000000

setAxis( campus, c_width,c_height);//000000000O00O0O00OOO0O
MemoryImageSource mimg = new MemoryImageSource( c_width,c_height, campus,0,c_width);
System.out.println("end");

new_img = createImage( mimg ) ;

}
//0000
public int round( double i ){
ifC i > 0){
return (int) (i += 0.5);
}else {
return (int) (i -= 0.5);
}
}

/000000 x00 yOOOO
public void setAxis(int[] dst, int dstX, int dstY){

int axisX = dstX/2;
int axisY = dstY/2;

for( int i = 0 ; i < dstX; ++i ){
dst[axisY*dstX+i] = Oxff << 24;

for( int i = 0 ; i < dstY; ++i ){
dst[ i*dstX+axisX] = Oxff << 24;




//src0000 dst0O0ODO0O

public void ImagePaste( int[] dst, int[] src,int dstX, int srcX, int srcY, int width, int he

for( int i = height ; i < height+srcY; ++i ){
= width; j < width+srcX; ++j ){
dst [i*dstX+j]

for( int j

= src[(i-height)*srcX+j-width];

//000000000000DO0000DO

public int[] rotation(int[] src ,int srcX, int srcY,double angle ){

int[] temp = new int[ srcX*srcY];
angle = -angle;//000000000000OCOO

for( int 1 = 0 ; i < srcY; ++i ){

for( int j = 0 ; j < srcX; ++ j ) {
double newX = Math.cos( angle )*(j-srcX/2)-Math.sin( angle )*(i-srcY/2);
double newY = Math.sin( angle )*(j-srcX/2)+Math.cos( angle )*(i-srcY/2);

newX = round(newX);//0000

newY = round(newY);

//00000
int x = (int)newX+srcX/2;

int y = (int)newY+srcY/2;

/0000000000000 000Doogoo
if( x>0 && x < srcX & y > 0 && y < srcY ){

temp[ y*srcX+x] = srcli*srcX+j];

}

return temp;

//00000000000000000000

public int[] reflection_y( int[] src, int srcX, int srcY ){

System.out.println(srcX+","+srcY);
int axisX = srcX/2;

int[] reflection = new int[srcX*srcY];

for( int i = 0; i < srcY; ++i ){
for( int j = 0 ; j < srcX; ++j ){

int newX = -1%(j -axisX)+axisX-1;

ight){




reflection[ i *srcX + newX ] = src[i*srcX+j];

}

return reflection;

//000000000000000 pattern000O0O0OOOODOO
//00000000000000000DO00000000000DO00000000O0ODO0OOO0OODOOoDbOO
/000000000000
public int[] affine(int[] src, int srcX, int srcY,int offsetX, int offsetY, double angle,int
//pattern 00 000000O0O0COCOOODOOOOODOODO
switch(pattern){
case 1://00
src = rotation( src, srcX, srcY, angle); break;
case 2://00
src = reflection_y(src, srcX, srcY); break;
case 3://000 (x0)
src = skewing_x( src, srcX, srcY, angle);break;
case 4:
src = skewing_y( src, srcX, srcY, angle);break;

default:

int[] temp = new int[srcX * srcY];

//0000
for( int i = 0 ; i < srcY; ++i ){
for( int j = 0 ; j < srcX; ++j ){
if( j + offsetX < srcX && i+offsetY < srcY ){
temp[ (i+offsetY)*srcX + (j+offsetY)] = src[ i*srcX+jl;

}

return src;

//x000000
public int[] skewing_x(int[] src, int srcX,int srcY, double radian_x ){
int[] temp = new int[ srcX*srcY ];
for( int i = 0 ; i < srcY; ++i ){
for(int j = 0 ; j < srcX; ++j ){
int newX = (int) (j+Math.tan( radian_x )*i);
int newY = i;
if( newX > 0 && newX < srcX &% newY > O && newY < srcY ){

temp [newY*srcX+newX] = src[ i*srcX+jl;

10

pattern



}

return temp;

//0000 @o0)Hd

public int[] skewing_y(int[] src, int srcX,int srcY, double radian_y ){

int[] temp = new int[ srcX*srcY ];

0 ; i < srcY; ++i ){

for( int i

for(int j = 0 ; j < srcX; ++j ) {

int newX = j;

int newY = (int) ( Math.tan(radian_y)*j+i);
if( newX > 0 && newX < srcX && newY > 0 && newY < srcY ){

temp [newY*srcX+newX] = src[ i*srcX+j];

}

return temp;

/00000 o0000000O00000DO00DO0OOOOOO0O
void pivot(int i,double mat[][],int N){

int pivot_row = i;//0000000COC0O0O0OOOOOO
double max_col = mat[i] [i];
if( max_col != 0 ) return;//00000O0C000O0O0OO0OO0O
//i0000000000000C000DO0O000oDoOoogoooon
for( int j =i; j < N; ++j ){
if( mat[j]1[i] !'= 0 ){
pivot_row = j;
max_col = mat[j][i];

break;

//000000000000000000000
if ( pivot_row != i ){
for( int j = 0 ; j < N+#N; ++j ){
double swap = mat[i] [j];
mat[i] [j] = mat([pivot_row] [j];

mat [pivot_row] [j] = swap;

11




//0000000

void gauss(int i,double a[l[],int N){

double pivot =
for(int j = 0 ;
//00000

ali][i];//00 000000000000 DO0OO
j < N+N; ++j ){
doooooooobooooooooa

alil [j] /= pivot;

/000000000000

for( int j = 0
if(j 1=14
double

;0 J <N; ++5 )1
){
col_i = a[jl[il;

for( int k = 1 ; k < N+N; ++k ) {

alj

/000000000

1[k] -= col_ix*ali] [k];

void mat_inv(double al[][],int N){
for(int i=0; i<N; ++i){
pivot(i,a,N);//00000 000000000

gauss(i,a,N);

public int ByteRound( int i ){

if( i > 265 ) i
else if(i < 0 )

return i;

= 255;

i = 0;

public void paint( Graphics g ){

g.drawImage( new_img, 0,0,this);

System.out.println("print Image");

12
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23 U00O0obOoboooon

import java.applet.x*;

import java.awt.x;

import java.awt.image.x*;

public class allMain extends Applet{

private static final long serialVersionUID = 1L;

Image img,img?2;

Image new_img,new_img2;

int
int
int
int
int

int

int

int

w_1 = 0;

h_1 = 0;

c_width = 0;//000000000O0O
c_height = 0;

c_axisx=0;//000000 x00 yOOOO

c_axisy=0;

pix[];
campus[];//000000000000000OO0O

public void init(){

img = getImage( getCodeBase(),"test.jpg");

MediaTracker mt = new MediaTracker( this );

mt.addImage( img , 0 );

try{
mt.waitForID( 0 );

}catch( InterruptedException e){
System.out.println( e );

-
I

img.getWidth( this );

h_1 = img.getHeight( this );

c_width = w_1%4;

c_height = h_1x%4;

c_axisx = w_1x%2;

c_axisy = h_1x%2;

pix = new int[w_1xh_1];

campus = new int[ c_width* c_height 1];
setPix();

}//end init

14




void setPix()
{

try

{

PixelGrabber pg = new PixelGrabber( img, 0, 0, w_1, h_1, pix, 0, w_1 );

pg.grabPixels();
}catch( InterruptedException e )
{

System.out.println( e );
}//end try-catch

int startX = c_width / 2+50;//00000000000 xO00OO
int startY = c_height / 2;//00000000000 yOO0O

ImagePaste( campus, pix, c_width, w_1, h_1, startX, startY);//0000000000COCOOO

//0000

campus = projective( campus , c_width, c_height, 0, 0, c_width-100,60, 60, c_height-130,
setAxis( campus, c_width,c_height);//0000000000COOOOOOO

MemoryImageSource mimg = new MemoryImageSource( c_width,c_height, campus,0,c_width);

new_img = createImage( mimg );

//0000
public int round( double i ){
if( i >0 )4
return (int) (i += 0.5);
Yelse{
return (int) (i -= 0.5);

/0000000000000 @ODO0000oooooooo)oooooa
public void setAxis(int[] dst, int dstX, int dstY){

int axisX = dstX/2;
dstY/2;

int axisY

for( int 1 = 0 ; i < dstX; ++i ){

dst[axisY*dstX+i] = Oxff << 24;

for( int 1 = 0 ; i < dstY; ++i ){

dst[ i*dstX+axisX] = Oxff << 24;

15
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//src0000dast000D0OOOO

public void ImagePaste( int[] dst, int[] src,int dstX, int srcX, int srcY, int width, int he

{

for( int i = height ; i < height+srcY; ++i )

{
for( int j = width; j < width+srcX; ++j )
{

dst[i*dstX+j] = src[(i-height)*srcX+j-width];

}

}

}//end ImagePaste

//000000000000Db00b00o0obooogoon

public int[] rotation(int[] src ,int srcX, int srcY,double angle ){

int[] temp = new int[ srcX*srcY];
angle = -angle;//0000000000000OO0O
for( int i = 0 ; i < srcY; ++i ){

for( int j = 0 ; j < srcX; ++ j ){

/000000000000

double newX

newX = round( newX );//0000

newY = round( newY );

//00000
int x = (int)newX+srcX/2;
int y = (int)newY+srcY/2;

//00000000000DOC000DoboO0oo
if( x>0 && x < srcX & y > 0 && y < srcY ){

temp[ y*srcX+x] = srcli*srcX+jl;

}

return temp;

//00000000000000000000

public int[] reflection_y( int[] src, int srcX, int srcY ){

int axisX = srcX/2;
int[] reflection = new int[srcX*srcY];
for( int i = 0; i < srcY; ++i ) {

for( int j = 0 ; j < srcX; ++j ){

16

Math.cos( angle )*(j-srcX/2)-Math.sin( angle )*(i-srcY/2);
double newY = Math.sin( angle )*(j-srcX/2)+Math.cos( angle )*(i-srcY/2);

ight )




int newX = -1*(j -axisX)+axisX-1;

reflection[ i *srcX + newX ] = srcl[i*srcX+jl;

}

return reflection;

//00000o0o0000O00000C0O0O00O0O0OO00OOO
void pivot(int i,double mat[][],int N){
int pivot_row = i;//0000000000000000
double max_col = mat[i][i];
if( max_col '= 0 ) return;//00000 0o000O00O0O0O0OO
//i000000000000C0000DOOoO00o0DoOooOoooon
for( int j =i; j < N; ++j ){
if( mat[j1[i] !'= 0 ){
pivot_row = j;
max_col = mat[j][i];

break;

//000000000000000000O00d
if ( pivot_row != i ){
for( int j = 0 ; j < N+N; ++j ){
double swap = mat[i] [j];
mat[1] [j1 = mat[pivot_row] [j];

mat [pivot_row] [j] = swap;

//0000000d
void gauss(int i,double al[][],int N){
double pivot = alil[i];//000000000OOOOOOOODO
for(int j = 0 ; j < N+N; ++j ){
//00000000000000D00O00000o0Od
alil[j1 /= pivot;

/000000000000
for( int j = 0 ; j <N; ++j ){
if( j = 1)1
double col_i = al[j][il;
for( int k = i ; k < N+N; ++k ) {
aljl[k] -= col_ix*ali] [k];

17




/000000000
void mat_inv(double a[][],int N){
for(int i=0; i<N; ++i){
pivot(i,a,N);//00000 000000000

gauss(i,a,N);

}

/000000000000

public int[] projective( int[] src,int srcX, int srcY, int x1, int y1, int x2, int y2, int x
//000000
double[][Ja = new double[8][16];//00000000CO00O0ODO0O0O0OODOOO 20

al0][0] = 0; a[0][1] = 0; al0][2] = O; a[0][3] = O;
al01[4] = 1; a[0]l[5] = 0; al0]l[6] = 0; al0][7] = O;
al1][0] = 0; al1][1] = 0; a[1][2] = 0; a[1][3] = 0;
al1]1[4] = 0; al1]1[8] = 1; al1]1[6] = 0; al1]1[7] = O;

al[2] [0] = srcX; al[2][1] = 0; al[2][2] = 0; a[2][3] = 0;

al[2][4] = 1; a[2][5] = 0; a[2][6] = -srcX*x2; a[2][7] = O;
a[3]1[0] = 0; a[3]1[1] = 0; al[3]1[2] = srcX; al3]1[3] = 0;
al31[4] = 0; al31[56] = 1; al3]1[6] = -srcX*y2;al3][7] = 0;
al4][0] = 0; a[4][1] = srcY; al[4][2] = 0; a[4][3] = 0;
al4][4] = 1; a[4][5] = 0; al4][6] =0; al[4][7] = -srcY*x3;
a[6][0] = 0; a[6][1] = 0; a[6][2] = 0; a[6][3] = src¥;
a[6][4] = 0; a[56]1[5] = 1; a[b][6] = 0; al[b][7] = -srcY*y3;

al[6][0] = srcX; al6][1] = srcY; al[6][2] = 0; al6][3] = 0;

al[6]1[4] = 1; a[6][5] = 0; al[6][6] = -srcX*x4; al[6][7] = -srcY*x4;
a[7][0] = 0; a[7]1[1] = 0; a[7][2] = srcX; al[7][3] = srcy;
al71[4] = 0; al7]1[5] = 1; al7]1[6] = -srcXxy4; al7][7] = -srcYxy4;

afol[8] = 1.0; al1]1[9] = 1.0;a[2][10] = 1.0;al3][11] = 1.0;
al4][12] = 1.0; a[5][13] = 1.0; al[6][14] = 1.0; a[7][15] = 1.0;
double[] p = new double[8];

mat_inv(a,8);

for( int i = 0 ; i < 8; ++i ){
plil = alil [8]*x1+al[i] [9]*yl1+al[i] [10]*x2+a[i] [11]*y2+
ali] [12]*x3+a[i] [13]*y3+a[i] [14]*x4+a[i] [15] *y4;

int[] temp = new int[ srcX* srcY];
i < srcY; ++i ){
0 ; j < srcX; ++j ){
double X = (p[Ol*j+p[1]*i+p[4]1)/(p[6]*j+p[7]1*i+1);
double Y = (p[2]*j+p[3]*i+p[5])/(p[6]*j+p[7]*i+1);
if(X >0 &% X < srcX & Y > 0 && Y < srcY ){
temp[ (int)Y * srcX + (int)X ] = src[ i * srcX + j 1;

for( int 1 =0

for( int j

18
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System.out.println("end projective");

return temp;

public int ByteRound( int i ){
if( i > 2565 ) i = 255;
else if(i < 0 ) i = 0;

return i;

public void paint( Graphics g ){
g.drawImage( new_img, 0,0,this);
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3 Cc.O0oooobgnd

0000000 9.1900 00 nearest neighbor 0 O bilinear 0 O bicubic 000000000000 OCOOOOOO
goooooooOoOoOoOOOoOoOOO

3.1 nearest neighbor J

import java.applet.x*;
import java.awt.x;

import java.awt.image.x*;

public class allMain extends Applet {
private static final long serialVersionUID = 1L;
Image img,img2;

Image new_img,new_img2;

int w_1 = 0;

int h_1 = 0;

int c_width = 0;//0000000000

int c_height = O;

int c_axisx=0;//000000 x00 yOOOO

int c_axisy=0;

int pix[];
int campus[];//000000000000O0OOCO0OO

public void init(){

img = getImage( getCodeBase(),"test.jpg");
MediaTracker mt = new MediaTracker(this);

mt.addImage( img , O );

try{
mt.waitForID( 0 );

}catch( InterruptedException e) {
System.out.println( e );

=)
-
I

img.getWidth(this);

-
I

img.getHeight (this);

c_width = w_1%4;
c_height = h_1x%4;

c_axisx = w_1%2;

c_axisy = h_1x%2;

pix = new int[w_1xh_1];

campus = new int[ c_width* c_height ];
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setPix();

void setPix(){
try {
PixelGrabber pg = new PixelGrabber( img, 0, 0, w_1, h_1, pix, 0, w_1 );
pg.grabPixels () ;
}catch( InterruptedException e ){
System.out.println( e );

int startX = c_width / 2+50;//00000000000 xO00OO
int startY = c_height / 2;//00000000000 yOO0O

ImagePaste( campus, pix, c_width, w_1, h_1, startX, startY);//0000000000COCOOO

double scale =8.0;//00 0000000000000
int[] campus = nearest_neighbor( pix, w_1, h_1, scale);//00000000O0O0O

MemoryImageSource mimg = new MemoryImageSource( (int) (w_1*scale), (int) (h_l*scale), campi
System.out.println("end");

new_img = createImage( mimg );

//src0000dst000D0OOO0
public void ImagePaste( int[] dst, int[] src,int dstX, int srcX, int srcY, int width, int he
{
for( int i = height ; i < height+srcY; ++i ){
for( int j = width; j < width+srcX; ++j ){
dst[i*dstX+j] = src[(i-height)*srcX+j-width];

//x000000
public int[] skewing_x(int[] src, int srcX,int srcY, double radian_x ){
int[] temp = new int[ srcX*srcY ];
for( int 1 = 0 ; i < srcY; ++i ){
for(int j = 0 ; j < srcX; ++j ){

int newX = (int) (j+Math.tan( radian_x )*i);

int newY = i;
if( newX > 0 && newX < srcX && newY > 0 && newY < srcY ){

temp [newY*srcX+newX] = src[ i*srcX+j];

ns,0, (int

ight )
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System.out.println("end skewing x");

return temp;

//0000 @o0)Hd
public int[] skewing_y(int[] src, int srcX,int srcY, double radian_y ){

int[] temp = new int[ srcX*srcY ];

for( int i = 0 ; i < srcY; ++i ){
for(int j = 0 ; j < srcX; ++j ){
int newX = j;//(int) (j+Math.tan( radian_x )*i);

int newY = (int) ( Math.tan(radian_y)*j+i);
if( newX > 0 && newX < srcX && newY > 0 && newY < srcY ){

temp [newY*srcX+newX] = src[ i*srcX+jl;

}
System.out.println("end skewing_y");

return temp;

/0000000000
public int[] nearest_neighbor( int[] src, int srcX, int srcY, double scale ){
int dstX = (int) (srcX*scale);
int dstY = (int) (srcY*scale);
int[] data = new int[ dstX*dstY];
for( int i = 0; i < dstY; ++i ){
int pixelY = (int) Math.round( (double)i/ scale );
for(int j = 0 ;j < dstX; ++j ){
int pixelX = (int) Math.round( (double)j / scale );

int pix;

if ((pix = ( pixelY *srcX + pixelX) )>= src.length ){
pix = src.length-1;

}

data[i*dstX+j] = src[ pix ];

}

System.out.println("end nearest_neighbor");

return data;

public void paint( Graphics g ){
g.drawImage( new_img, 0,0,this);
System.out.println("print Image");
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void setPix(){
try{
PixelGrabber pg = new PixelGrabber( img, 0, 0, w_1, h_1, pix, 0, w_1 );
pg.grabPixels();
}catch( InterruptedException e ){
System.out.println( e );

int startX = c_width / 2+50;//00000000000 xO00O0O
int startY = c_height / 2;//00000000000 yOOO
//000000000000000d

ImagePaste( campus, pix, c_width, w_1, h_1, startX, startY);

campus = affine( campus,c_width,c_height,20,20,Math.PI/4,2);//000000

setAxis( campus, c_width,c_height);//00000000000000COO
MemoryImageSource mimg = new MemoryImageSource( c_width,c_height, campus,0,c_width);
System.out.println("end");

new_img = createImage( mimg ) ;

}
//0000
public int round( double i ){
if(i>0 )]
return (int) (i += 0.5);
}else {
return (int) (i -= 0.5);
}
}

/000000 x00 yOODO
public void setAxis(int[] dst, int dstX, int dstY){

int axisX = dstX/2;
int axisY = dstY/2;

for( int i = 0 ; i < dstX; ++i ){
dst[axisY*dstX+i] = Oxff << 24;

for( int i = 0 ; i < dstY; ++i ){
dst[ i*dstX+axisX] = Oxff << 24;

//src0000 dst 00000
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public void ImagePaste( int[] dst, int[] src,int dstX, int srcX, int srcY, int width, int he

for( int i = height ; i < height+srcY; ++i ){
= width; j < width+srcX; ++j ){
dst[ixdstX+j]

for( int j

= src[(i-height)*srcX+j-width];

//000000000000DO0000D0O0

public int[] rotation(int[] src ,int srcX, int srcY,double angle ){

int[] temp = new int[ srcX*srcY];
angle = -angle;//0000000000000OCO0O

for( int i = 0 ; i < srcY; ++i ){

for( int j = 0 ; j < srcX; ++ j ){

double
double

newX =

newY =

newX

newY

Math.cos( angle )*(j-srcX/2)-Math.sin( angle )*(i-srcY/2);
Math.sin( angle )*(j-srcX/2)+Math.cos( angle )*(i-srcY/2);

round(newX) ;//00 00O

round (newY) ;

//00000

(int)newX+srcX/2;

int x

int y = (int)newY+srcY/2;

//00000000000DOCO000DoboO0oon
if( x>0 && x < srcX & y > 0 && y < srcY ){

temp[ y*srcX+x] = srcli*srcX+jl;

}

return temp;

//00000000000000000000

public int[] reflection_y( int[] src, int srcX, int srcY ){

System.out.println(srcX+","+srcY);

int axisX = srcX/2;

int[] reflection =

new int[srcX*srcY];

for( int i = 0; i < srcY; ++i ){

for( int j = 0 ; j < srcX; ++j ){

int newX = -1*(j -axisX)+axisX-1;

reflection[ i *srcX + newX ] = src[i*srcX+jl;
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return reflection;

/000000000000 000 pattern0000O0OCOCOOO
//000000000000000000000O00O0DODODODOO000000000000000000000

/000000000000
public int[] affine(int[] src, int srcX, int srcY,int offsetX, int offsetY, double angle,int
//pattern 000000000 OO0O0OCOOODOOOOO
switch(pattern){
case 1://00
src = rotation( src, srcX, srcY, angle); break;
case 2://00
src = reflection_y(src, srcX, srcY); break;
case 3://000 (x0O)
src = skewing_x( src, srcX, srcY, angle);break;
case 4:
src = skewing_y( src, srcX, srcY, angle);break;

default:

int[] temp = new int[srcX * srcY];

//0000
for( int i = 0 ; i < srcY; ++i ){
for( int j = 0 ; j < srcX; ++j ){
if( j + offsetX < srcX &% itoffsetY < srcY ){
temp[ (i+offsetY)*srcX + (j+offsetY)] = src[ i*srcX+jl;

3

return src;

//x000000
public int[] skewing_x(int[] src, int srcX,int srcY, double radian_x ){
int[] temp = new int[ srcX*srcY ];
for( int 1 = 0 ; i < srcY; ++i ){
for(int j = 0 ; j < srcX; ++j ){

int newX = (int) (j+Math.tan( radian_x )*i);

int newY = i;
if( newX > 0 && newX < srcX && newY > 0 && newY < srcY ){

temp [newY*srcX+newX] = src[ i*srcX+j];
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return temp;

//0000 @o0)Hd

public int[] skewing_y(int[] src, int srcX,int srcY, double radian_y ){

int[] temp = new int[ srcX*srcY ];

for( int i = 0 ; i < srcY; ++i ){

for(int j = 0 ; j < srcX; ++j ) {

int newX = j;

int newY = (int) ( Math.tan(radian_y)*j+i);

if ( newX > 0 && newX < srcX && newY > 0 && newY < srcY ){

temp [newY*srcX+newX] = src[ i*srcX+j];

}

return temp;

(//00000o0o00000000000000000O0O00O
void pivot(int i,double mat[][],int N){

int pivot_row = i;//000000000000000O0O
double max_col = mat[i] [i];
if( max_col != 0 ) return;//00 0000000000000
//i000000000000000O0000000O0O0OO00O0ad
for( int j =i; j < N; ++j ) {
if( mat[jI1[i] !'= 0 ){
pivot_row = j;
max_col = mat[j][i];

break;

//0000000000000Q0Q0QoQooooo
if ( pivot_row != i ){
for( int j = 0 ; j < N+N; ++j ){
double swap = mat[i][j];
mat[i] [j] = mat[pivot_row] [j];

mat [pivot_row] [j] = swap;
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/0000000
void gauss(int i,double al[l[],int N){

double pivot = alil[il;//000000000000O00OOO0O

for(int j = 0 ; j < N+N; ++j ){

/0000000000000 000DOO000DO

alil[j] /= pivot;

//000000000000
for( int j = 0 ; j <N; ++j ){
if( j '=1i )4
double col_i = al[j][il;
for( int k = i ; k < N+N; ++k ) {
aljl[k] -= col_ix*ali] [k];

/000000000
void mat_inv(double a[][],int N){
for(int i=0; i<N; ++i){
pivot(i,a,N);//00000 o000O00OOOO

gauss(i,a,N);

public int ByteRound( int i ){
if( i > 265 ) i = 255;
else if(i < 0 ) i = 0;

return i;

public void paint( Graphics g ){
g.drawImage( new_img, 0,0,this);
System.out.println("print Image") ;
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3.3  Dbilinear [

import java.applet.x*;

import java.awt.x;

import java.awt.image.x*;

public class allMain extends Applet{

private static final long serialVersionUID = 1L;

Image img,img?2;

Image new_img,new_img2;

int
int
int
int
int

int

int

int

w_1 = 0;

h_1 = 0;

c_width = 0;//000000000O0O
c_height = 0;

c_axisx=0;//000000 x00 yOOOO

c_axisy=0;

pix[];
campus[];//000000000000000OO0O

public void init(){

img = getImage( getCodeBase(),"test.jpg");

MediaTracker mt = new MediaTracker( this );

mt.addImage( img , 0 );

try{
mt.waitForID( 0 );

}catch( InterruptedException e){
System.out.println( e );

-
I

img.getWidth( this );

h_1 = img.getHeight( this );

c_width = w_1%4;

c_height = h_1x%4;

c_axisx = w_1x%2;

c_axisy = h_1x%2;

pix = new int[w_1xh_1];

campus = new int[ c_width* c_height 1];
setPix();

}//end init
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void setPix(){
try {
PixelGrabber pg = new PixelGrabber( img, 0, O, w_1, h_1, pix, 0, w_1 );
pg.grabPixels();
}catch( InterruptedException e ){
System.out.println( e );

int startX = c_width / 2+50;//00000000000 xO00O
int startY = c_height / 2;//00000000000 y0OO0O

ImagePaste( campus, pix, c_width, w_1, h_1, startX, startY);//00000000000COCOOO

double scale =8.0;//000000000000O0DOO
int[] campus = bilinear( pix, w_1, h_1, scale);//000000O

MemoryImageSource mimg = new MemoryImageSource( (int) (w_1l*scale), (int) (h_1lxscale), campy
System.out.println("end");

new_img = createImage( mimg ) ;

//src 0000 dst 0000000
public void ImagePaste( int[] dst, int[] src,int dstX, int srcX, int srcY, int width, int he
for( int i = height ; i < height+srcY; ++i ){
for( int j = width; j < width+srcX; ++j ){
dst[ixdstX+j]

src[(i-height)*srcX+j-width];

public int ByteRound( int i ){
if( i > 2565 ) i = 255;
else if(i < 0 ) i = 0;

return i;

}

//000000

public int[] bilinear(int[] src, int srcX, int srcY, double scale ){
int dstX = (int) (srcX*scale);
int dstY = (int) (srcY*scale);

int[] data = new int[dstX* dstY];
for(int i = 0; i < dstY; ++i ){
double pY = ((double)i/ scale) ;
/00000000000
if (pY+1 >= srcY){
pY =srcY-2;

1s,0, (int

ight ){
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for(int j = 0; j < dstX; ++j ){
double pX = ((double)j/ scale);
if (pX+1 >= srcX ){
pX =srcX-2;

}

/000000000000

double x1
double x2
double y1
double y2

double index1
double index2
double index3
double index4

int red;
int green;

int blue;

red = (int) (xl*yl*(double) ((src[(int)index1] & 0x00££0000)>>16)+

green = (int) (x1xyl*(double) ((src[(int)indexl1] & 0x0000£f00)>>8)+

blue = (int) (x1xylx(double) ((src[(int)indexl] & 0x000000£ff))+

data[ixdstX+j] = Oxff <<24 | ByteRound(red) <<16 | ByteRound(green)<<8 | ByteRo

}

System.out.println("end bilinear");

return data;

public void paint( Graphics g ){
g.drawImage( new_img, 0,0,this);
System.out.println("print Image");

((int) pX+1-pX);

(pX-(int)pX);

(int)pY+1-pY;

pY -(int)pY;
(int)pY*srcX+(int)pX;
((int)pY+1) *srcX+(int)pX;
((int) pY) *srcX+(int) pX+1;
((int)pY+1) *srcX+(int) pX+1;

x1*y2* (double) ((src[(int)index2] & 0x00££0000) >> 16)+
x2xylx(double) ((src[(int)index3] & 0x00££f0000) >> 16)+
x2xy2x (double) ((src[(int)index4] & 0x00££0000) >> 16));

x1*y2+*(double) ((src[(int)index2] & 0x0000ff00) >> 8)+
x2*y1l*(double) ((src[(int)index3] & 0x0000ff00) >> 8)+
x2xy2* (double) ((src[(int)index4] & 0x0000££f00) >> 8));

x1*y2+*(double) ((src[(int)index2] & 0x000000ff))+
x2xy1x(double) ((src[(int)index3] & 0x000000£ff))+
x2xy2* (double) ((src[(int)index4] & 0x000000£ff)));

und (blue)
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3.5 bicubiclO

import java.applet.x*;

import java.awt.x;

import java.awt.image.x*;

public class allMain extends Applet{

private static final long serialVersionUID = 1L;

Image img,img?2;

Image new_img,new_img2;

int
int
int
int
int

int

int

int

w_1 = 0;

h_1 = 0;

c_width = 0;//000000000O0O
c_height = 0;

c_axisx=0;//000000 x00 yOOOO

c_axisy=0;

pix[];
campus[];//000000000000000OO0O

public void init(){

img = getImage( getCodeBase(),"test.jpg");

MediaTracker mt = new MediaTracker( this );

mt.addImage( img , 0 );

try{
mt.waitForID( 0 );

}catch( InterruptedException e){
System.out.println( e );

-
I

img.getWidth( this );

h_1 = img.getHeight( this );

c_width = w_1%4;

c_height = h_1x%4;

c_axisx = w_1x%2;

c_axisy = h_1x%2;

pix = new int[w_1xh_1];

campus = new int[ c_width* c_height 1];
setPix();

}//end init
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void setPix(){
try {
PixelGrabber pg = new PixelGrabber( img, 0, O, w_1, h_1, pix, 0, w_1 );
pg.grabPixels();
}catch( InterruptedException e ){
System.out.println( e );

int startX = c_width / 2+50;//00000000000 xO00O
int startY = c_height / 2;//00000000000 y0OO0O

ImagePaste( campus, pix, c_width, w_1, h_1, startX, startY);//00000000000COCOOO

double scale =8.0;//000000000000O0DOO
int[] campus = bicubic( pix, w_1, h_1, scale);//00000000O0O0O

MemoryImageSource mimg = new MemoryImageSource( (int) (w_1l*scale), (int) (h_1lxscale), campy
System.out.println("end");

new_img = createImage( mimg ) ;

//src 0000 dst 0000000
public void ImagePaste( int[] dst, int[] src,int dstX, int srcX, int srcY, int width, int he
for( int i = height ; i < height+srcY; ++i ){
for( int j = width; j < width+srcX; ++j ){
dst[ixdstX+j]

src[(i-height)*srcX+j-width];

public int ByteRound( int i ){
if( i > 2565 ) i = 255;
else if(i < 0 ) i = 0;

return i;

/000000000

public int[] bicubic(int[] src, int srcX, int srcY, double scale ){
/0000000000000 00000000O0000O0000Oad
int dstX
int dstY
int[] data = new int[dstX* dstY];

(int) (srcX*scale);

(int) (srcY*scale) ;

for(int i = 0; i < dstY; ++i ){
//000000000000000
double pY = ((double)i/ scale);

1s,0, (int

ight ){
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for(int j = 0; j <

dstX; ++j ){

double pX = ((double)j/ scale);

int dstRed=0;

int dstGreen=0;
0;

int dstBlue =

/000000000 400000
for(int iy = (int)pY-1; iy <= (int)p¥+2; ++iy){

for(int ix
double
double

if ( wx
WX
Yelseq{

WX

if ( wy

wy
Yelseq{

wy

double
double

= (int)pX-1; ix <= (int)pX+2; ++ix ){
wx =Math.abs(pX-ix);
wy =Math.abs(pY-iy);

<1){

(wx—-1) * (wx*wx-wx—-1) ;

- (wx-1)* (wx-2) * (wx-2) ;

<1){
(wy-1)* (wy*wy-wy-1) ;

==(wy-1) * (wy-2) * (wy-2) ;

x0 = ix;

yo = iy;

//000000000000000DO

if ( x0
x0

if( yo
yO

dstRed

<0 |l x0 > srcX-1) {
(int)pX;

<0 |l yo > srcY-1) {
(int)pY;

+= ((src[(int) (yO*srcX+x0)] & 0x00f£f0000) >> 16 )*wx*wy;

dstGreen += ((src[(int) (yO*srcX+x0)] & 0x0000£f00) >> 8 )*wx*wy;
dstBlue += ((src[(int) (yO*srcX+x0)] & 0x000000ff) )*wx*wy;

3

//0xff << 240 00000000000000

data[i*dstX+j]

3

= 0xff << 24 | ByteRound(dstRed) <<16 | ByteRound(dstGreen)

System.out.println("end bicubic");

return data;
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public void paint( Graphics g ){
g.drawImage( new_img, 0,0,this);
System.out.println("print Image");
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